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O000ooO0ooooOoOooooOoOoOD R,d,) DOOODOODODOOOOODOOD (X,d)0000
oooooooobob 0b0b0 Xbobodooooooboboobooooooo

Ubbe-00gobbbbooogbbboooobon
gbogbobobuobuoouobobobabaooaoon

00000000000 (R,d,)0000000000000000000000O0O0O0OoO
oooooooooo (b, (b2), (b3)DoDo00O00ooO00ooooOooooooooooooon
00000000oooooO0o0o00ooooooooooooooo (Oro@oojoo)o

0000 (X,d)000000000000000000 (00000)00000000000
(~00000000000 (RY,d,)000000000000000Y)

000(X,d000000000

O000ACXO (XOOOO)OOO (complement)d A°:=X —A(=X\A)O0O0OO

00 (0000000e-00)0 0DaeXOOOO0reRODOOB(a;r) = {z € X|d(z,a) < r}
0(00d0000)0 00000000000 (000, o0pen ball)I0OO0O0OOBy(a;e)0
0 a0 e-00 (e-neighborhood) 000000 d00O0000B(a;e) = Byla;e) DOOOO

00 (000,000)0 0000 (X,d0000000000UCX0OXO0O0O00O (open set) O
00000VzeUODDOOO03e>0st. Bla;e) cUODDDOONDDOOODOOOOOD FCcXO
D00 F0X0000000000X0000 (closed set) 0000

00 10Vee XOODOOOOO r0000 Bla;r)0 A={z € X|d(a,z) >¢}0 XO00OOODOO
00000000 BYa;r):={z € X|d(z,a) <r}0 B={z € X|d(a,z) >} 0 XOOOOO

002(X0000900000Y0 0000 (X,d)00000
XODODDODODOOOOOOOO0O000 9,X) (0000000 9y, 9)0
XODODODOOOOOOOOO0O0000 2(X) (0000000 A, 0000

000OP00000000[MO00)0ADODO0DD A(DDD)I000 (openset)J0 00 (closed
set) 0000000 offene Menge, abgeschlossene Menge 0 0 0O (Menge(D O )OO0 O0D0O)O

003 (0000 (X,d000000000)00000 (X,d)00000
(0) X € D4(X), 0 € D4(X),

(Oii) Ul,Ug,...,Uk EDd(X) = U NnU;N---NU, EDd(X),

(Oiii) U, € Dd(X), ANEAN— U)\GAU)\ S Dd(X)D

004 (0000 (X,d)00D000000)00000 (X,d)0000D0
(AI) X e Qld(X), 0 e Qld(X>,

(Aii) U,Us,....U, € Q[d(X) = UulyuU---UlU, € Qld(X),

(Aiﬁ) U, € Q[d(X), ANEAN— n)\eA U, € Q[d(X)D

00 (000D000000)0 0000 (X,d00000 ACcXO00000

()0 ze XO AOODO (interior point) D0 03Je >0s.t. B(r;e) CAOODODOOOODO
(2)0zeXO AO0ODO (exterior point) D0 03¢ >0s.t. B(z;e) CA0O0000O00OO
(3)02eX0A0000D00000O00000ADOOD (boundary point) 0000
00000Ve>000000B(z;e)NA#£000 B(ae)NA°£9 00000000

00 (ADDD00O0000)0 0000 (X,dOOOOO0 ACXOO00O

(1) ADODDO0O0O0DO ADOD (interior) (D0DOO0)D000A (D00 40000
(2) ADDD000O000 ADDD (exterior) 1000 A 0000

(3) ADDDO0D0O0D0DOO0D ADDOO (frontier, boundary) 0000 A/ (00O A)DDOOO

000@() 0000 X=AUA*UA/ (0D0), (i)zeA0DrecAD ¢ ADDDODODOOO

[1] 00 1,003000000(000 (R*,d,)000000000000000000000 (1))
[2] 0030 (0000000)00000000000000004000000
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005 (00000000)0 0000 (X,d00000AcCcXO00000
ADXODOOO < A=A (ADODDOO ADDD)D

0060 00ODDO (X,)DOODOD A BCcXUOOOOODODDOODOOO
(1) A e 0,00000000U€e€O,000UCA=UCA (A0 ADO0DDODODOOODOO),
(2) ACc B= A" C B".

007(@0((@QO0)000)0 0000 (X,d)00000 A BCcXOODODODOODOOODOOO
L) X' =X,

(I;) A" C A,

(Liy) (AN B)" = A"n B,

(L) (A1) = A0

080 (1) 00DUD ACXUODOODDAODD A°=(A°'0 A°00000000DDOOO
(2) ADDDO A = (ATU A9 = (A)°N(A°)°0 XO0D0ODOOOoOoO

OO0 (CODO0OO0O0D0O000 (adherent, accumulation, isolated point))0

0000 (X,d)00000 AcXOooooo

()0 z€X0A00000OVe>000000B(1:e)NA#4A000000000
2)02eX0A0000000Ve>000000B(ze)n(A—{z})£000000000
(3)02ze X0 ADO0D0DO0O03e>0st Blaje)NA={z} 00000000

00 (AD000O0OO0OO0)0 0000 (X,d)00000 ACcXO00000
(1) ADD0DO0OOOO0O0OO0 ADDODO (closure) 0000A (DDD AYDDDO.
(2) ADDDO0OO0O0ODDDO ADDOO (derived set) 0000 A0DDO.
0090 (1) A= (A =AUAS (2) ACA, (3)ACc ADDDDO

00 (00000000000)0 0000ACXO00000A=AuA‘000000
D00AY¢ ADDDDOOOA-AY={A0000}000A=A40{A0000}000000

0010 (A0 A00OO (duality))d 0000 (X,d)00000 AcXO00000O
(A= (A°'0000000000000 A = ((A%)i), A° = (A}, Al = (A9 00000,

000000 A=AO00000A4%°=A% A =A000000000000 A% = (((A°)%)°0
00110 0000 (X,d)00000 A, BCcXO0O0OO000O0DO0OODOO0OO00O
(1)Ae,00000000F€%,00 ACF= ACF (A0 ADDOOOOOOD),
(2)AcB= ACB.

0012 (00000000)0 0000 (X,d)00000ACXDODODOOO

A0 XOOOO < A=A (<= A/CA[A0 ADDDDDOO]) < AC A.

0013 (00000)0 0000 (X,d)00000 A BCcXOOOODOOOOODOO
(Ki)®:®7_

(Ky) AC A,
(Kii) AUB = AU B,
(Ki) A= A0
0000000 A BCXODOODDOO, (1) Ac B= A4c B4 (2) (AuB)?= A4uU B

00140007 (1) 000 13 (K;) O NOud000000000000000000
(0000000 (R,d) 000000000 A=[-1,0, B=1[0,1]0 A=(-1,0), B=(0,1)00)

[3]0000 (X,d)00000000.-000000000000000000ODOO0O0ODO0O0OO0
O0000000000ooooo0o0oUdUooooooooooOo(UouoooD)o

[4]00000000000000000000000000008,009,0014000000.
5] (R, dx) 00000A={1/n|neN}OODOODOA, A°, Af, A, A4 {A0DOO}Y0O0O00

6] 0000 (X,d)D0O000 ACcXOOOOOODOOOO (Doooooo)
reX0DAODODOO = Ve>000000B(r;e)0 ADODODODDODODODODO

(7005 006, 007000 100000000000012,00 11,00 1300000000
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0000000000000 0R=(R,d;)0000000000O0OOO0ODO (X,d)00000O0O
ooooooobob 0b00b0 XObobdoobobobooooooooooo

[DDD{an}neNﬁDD{xn}neNDDDDDDDDDDDDDD(DDD)DDDDD(DDDD)]

00 (ADDD)00000 (X, 00000 ACc XO0OOOOOO2:N— A0 AD00OO
0000000 2(n)0 2,00000000 {22}rex 000000 {z.}ney 0000000000
i <ip<--000000 {2; taen 000 {z,}ney 00000000ROOOOO0O00O00DOO0O

00 (D0D000)0 ACcXOO00 {zu}nend e XOOOOO (converge)

&L Ve>0000003NeNst. VneNOOOOOn >N = d(a,,a) <e

< Ve>0000O003NeNst. vneNOOOOOn >N =z, € B(a;¢).
0000 aeRO0D0 {2ptney D00 (limit) 0000 = lim, o2, 0000

001500000 (X,d) 000 {2 een 0 @€ X000 < 000 {d(#n, )} nex D 00000

O00ACXOO0O000 {#u}eew00000#{z,|neN=0c0000000#{x,|neN}< oo
0o000000000000

0016 (000000000)YDODOOO (X, )JOOODD ACcXOOOOO
020 ADDDO0O <= (i) {zn|neNyCcA—{z}, (ii) limy—ooz, =20000 {2, }nex 000
«— UOz0 AD00DODO0DODOOOOOO0

0017 (00000000 0) 00000 (X,d)OoooOo FcXOOOOO
FCcXOO0O0O < FOOO{z,}nen0 2000000 z€F.

0018 (00000000)I0000 (X,d)00000 ACcX0O0D00O
r€A < 200000 A000 {z,},en0000O

00 (ADDO (diameter), AD BOODOODO)0 0000 (X,d) 00000 A, B C X (A, B#0)
000006(A) :=sup{d(z,y)|z,yc A}0 ADODDOOOOO
0O00d(A,B) = inf{d(z,y) |z € A,ye B}0 AD BOOOOODOOOO

00 (00 (bounded))000D00 (X, 00000 ACXOOOODADDD <5 §(A) < co.

00000 {znteen 000 <5 00 {2, |neN}ODDO.

0000000 ACXO0OOOOADDOD < VeeXOOOO, Je>0s.t. AC B(x;¢),

00 {2 pen 000 < V2 XO0OOO,3M >0st. YneNOOOOOz, € B(z; M).
def

00 (Cauchy O, 000)0 ADOO {2,}hex 000000 (000)<LS Ve > 000000
AN €Ns.t. Vm,n e NOOOOOm,n> N = d(zm,2,) <e. (00000000000000)
000000000000000000000000 («0000A4=(Q,d,)0 A=(0,1)CR)0
00 (00)00000 (X,d)00000000000000000000X0000000000

00 (C) (000000 (completeness))d (R,d,) 0000000 (-070[000)00)

00000000 (R,d,) OOOOOOOO0OO0O0O0OOO

00190 00000000 (R,d,) J00000 X CR'O00 {z}ey000000 2,0 RO
000000 2= ("2, 2"YexDo0o0o0D0000000O00O0000O

() 00 {z:}iexn 00 o= (a1, 09,...,0,) ER"OO0OD0O0DO
i)0k=1,2..n00000000 {"}hewD aqp e ROODOOOO

00 190 0000RODODOOODOOR"OOOOOO0OOOUOOO(~0OO0 MOoOoDooooon)

0020 (000000)0JACR'000 {z,}newy 00000

(1) 00 {2ntwen D 0« € RPO00 = {2, }nen 0000000 {2y, }oen D 0000

(2) 00 {2ntwexy 000 = 00 {20}eeny 000000 = 00 {2,}nex 0000

(3) 00 {#,}nen 00000000000 {#;,}nend a€R"000 = 00 {2p}penD o000,

OO0 ROOOODOODO 9OOOOOOOOobOOoOobOooboon

0021 (R*O0C00)0 DO0O0O0O0D0O0OO (Ry,dy)DoooooOo
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00000000 (R, d,) DODOODO000R?P=RxR R =R*"xR"000000000
000000000000 1900000000 oooooooU 2000000 (X,dy), (Y,dy)
bbb XxYQooooooooooboobooobo

0022(000000)0n000000 (X1,d1),...,(X,d,)00O0000000 X = X;x--x X,
020 x=(v1,...,2n),y=(y1,...,y,) 000000

dx(x y \/dl x17y1> + - +dn(xn7yn)2

0000000000(X,d)00000000 (0 [8)0000000000000 (X,d*)00
000 (X1,dh),...,(Xn,d,) 00000000000 (X,d") = (X1,d1) X x (Xp,d,) 0000

0230 (R dy)0 (nO00)00O0D000 (RLdy) x -+ x (RY,dp) 000 (O [9])D

00240000000 (X,d) = (X1,dy) x - X (Xp,dp) 000 {2}y 000000 2,0 2 =
(@%ﬁ%”.“%EXDDDDDDDDDDDDDDDDD
() 00 {z:i}ien 00 a = (a1,a9,...,0,) € XO0DOODOD

GQDk:LZ”wnDDDDDDDD{QWKMJ%GX%DDDDDD

0025 (000000000000)0
0000000 (X1, dy),..., (X, d,) 0000000 (X1,d1) X+ X (Xp,d,) 0000000

0260 DO00ODODOOOO (R,dy)DOOQOQOOQO

00 27 (0000 (continuous map))0 0000 (X,d)0(X',d)00000

00 f: X—=X0O0OaeeXODOO

&L Ye> 00000036 >0st. Voe XOOODOOd(z,a) <= d(f(z),fla)) <e

<= Ve>00000030>0s.t. f(Bila;0)) C Ba(f(a);e).
00 f: X—-X'0Vee XOOOOOOOOOfO (X,)DODODDODODOOODODOO (X,)0OODO
000000000X'=RO0O0O fOXOO(OOO)oooDoOOOO

0028 (0000000000000000000)0

0000 (X,d0(X,d)000 f: X - X' 00000030000 (),G),G) 0000000
() f0 XOOOOOOO

(i) X’00000000UO00000f0000UO0O0 (V)0 XO000O0000;

YU € Ox(X)DDDD0OfHU) € Dq(X),
(i) X’ 0000000 FOODOOfODO0 FODO f4(F)0XO00000O0OO;
VE € A(X) DO0O000Of HF) € Ag(X).

[8] (0O 22) (X,d)00000000000000
9] 023000000

(100000 (X,dy), (Y.dy), (Z,d,) 0000000 f:X—Y,g:Y—-Z0000000
0000gof: X —2Z000000000000

[11] 0000 (X,d)0000,00 f: X >R, ¢: X >R'O0000000
0000000000000000
(D) f+g: X =R (f+g)(x)=f(z)+g(z),
(2) cf: X =R, (cf)(z) =cf(z),
B)f-g: X =R (f-g)(x) = [f(z)g(x).

1
Vi 8 J_
(1) 00 {z.}nen00 16000000000
(2) 00 {z.}aex 000 (0,0000000000000
000e=1/10000000000000 NOOOOOOOOOOOOOO0OO
[13] R20 00 {(1/n,1/n)}nen O (R%, dy), (R2,dy), (R2,ds), (R2,de) 0000000
0000000000000000000

[14) QCROOOOOQ, Qs, Q00000
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